Key to Exam III; F4360; Spring, 2001; 10:00 Class; page 1 of 2

Short answer questions/problems

1.  Basing capital budgeting decisions on a project’s discounted payback may lead to the firm to incorrect conclusions about whether a project should be undertaken.  Why is this the case?

2.  Robotic Mowers Inc. is considering building a new manufacturing facility in order to keep up with booming demand for its robot lawn mowers.  The facility will cost $1,500,000 to build and will fall into the 7-year asset class under the 1986 Tax Reform Act.  Robotic’s marginal tax rate is 35%.  What will be the impact of this construction cost on net, after-tax cash flows 3 years after the factory is completed?  Note:  Use a “+” to indicate an inflow and a “-“ to indicate an outflow.

3.  One indirect cost associated with issuing common stock is the announcement effect.  What does this refer to?

4.  Suppose Yankees Inc. has recently issued a bond with a sinking fund requirement.  What is a sinking fund requirement?

5.  What is the name of the type of analysis which examines the impact of changes in combinations of variables on net present value?

6.  Sketch a decision tree for Astros Inc. based on the following information:  Astros is considering building a new factory today.  Sales from the new factory would begin a year from today.  Astros estimates that there is a 65% chance that sales from the new factory will be high and that there is a 35% chance that the sales will low.  If sales are high, Astros will have to decide whether to expand the factory.

7.  Suppose a firm uses its weighted average cost of capital as a discount rate for all new project.  If the firm undertakes a project which is less risky than the firm’s existing assets, what type of capital budgeting error might the firm make?

8.  Dodgers Inc. has recently announced that they intend to issue new shares of common stock and use the proceeds to retire outstanding debt.  If you currently own stock in the Dodgers and do nothing, what will happen to the expected return on your investment?

9.  According to Miller’s analysis of capital structure, which investors will own stocks and which will own bonds?

10.  List two potential costs of debt related to a loss of confidence in the firm due to excessive debt.

Problems/Essays

1.  Pirates Inc. is considering undertaking a project which would require an investment of $100,000.  The project is expected to produce net, after-tax cash flows of $12,000 two years from today.  Thereafter, cash flows would occur annually and would increase by 3% per year and continue through 20 years from today.  The market value of the firm’s outstanding debt it $3,000,000 and of its equity is $11,000,000.  The book value of the firm’s debt is $2,800,000 and of its equity is $3,500,000.  The firm estimates that the required return on its stock is 14% and states that the yield to maturity on its outstanding debt is 8%.  Pirates’ tax rate is 35%.  The firm estimates that if the project is very successful, it can be expanded for a cost of $40,000.  The value of this expansion is $12,000 if valued as a call and is $8000 if valued as a put.  How would accepting this project change the value of the firm?  Should the firm undertake the project?

2.  The stockholders of Braves Inc. have asked management to change the firm’s capital structure.  The stockholders all agree that they would benefit from this change.  However, the bondholders have expressed displeasure with this proposal and management is also expressing reservations.  What kind of change in capital structure would create these reactions?  Explain why this is the case.
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Answers:
Short answer questions/problems:

1.  Ignores cash flows after the payback.

2.  +91,822.5 = +1,500,000(.1749)(.35)

3.  When announce plan to issue common stock, stock prices fall on average.

4.  Firm sets aside funds each period to retire debt.

5.  Scenario analysis

6.  Description of graph:  Initial branching out of decision box:  Build vs. not build; 

On the build branch:  Branching out of random event circle with high sales (65% chance) or low sales (35% chance)

On the high sales branch:  Branching out of decision box:  Expand vs. don’t expand

7.  incorrect rejection of positive NPV projects.  

8.  Decrease

9.  TB < TC:  own bonds; TB > TC:  own stocks

10.  Two of:  loss of key employees, lost sales, higher credit costs, loss of supplier credit

Problems/Essays

1.  
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=> should undertake project

2.  Issue debt with same priority as outstanding debt and repurchase shares

=> firm has higher risk of bankruptcy 

=> stockholders gain at the expense of original bondholders since the new bonds dilute the claim of the original bondholders

=> stockholders also gain because the additional debt better aligns the interests of stockholders and managers. 

=> management may not like the new debt since:

1) takes discretionary cash out of management’s hands as service debt

2) keeps management’s feet to the fire due to the increased risk of bankruptcy
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